24 Dbasic education
e Department:
L\ :
@ 'ﬂ‘ Ej Basic Education

REPUBLIC OF SOUTH AFRICA

NATIONAL
SENIOR CERTIFICATE

.‘f ENGINEERING GRAPHICS AND DESIGN P2

|

il

ll FEBRUARY/MARCH 2017

|

|

i MEMORANDUM
———————————————————————————— e e e —————
MARKS: 100

This memorandum consists of 5 pages.

Copyright reserved

Please turn over




Engineering graphics and design/P2

2 NSC - Memorandum

DBE/Feb.-Mar. 2017

ANSWERS

—_

GAS REGULATOR

www.theonegas.co.za

MILLING

AUTOCAD 2016

5N

2015-10-31

SOON

RUBBER

FULL SECTIONED FRONT VIEW

O|loo|N[([ojga|h~|WIN

FILLET

—_
o

B: 0 17.6

C: 125

D: 75

—
—

75°

=
N

THIN PART / RUBBER

—_
w

PART SECTIONING

—
S

KNURLING

=
()]

CAP

Y
(o))

8

=
~

TO KEEP THE RUBBER PIPE IN POSITION

—_
(o]

=
(o]

N
o

See below

BRI W W IN| A allaaalWw === -

TOTAL

w
o

ANSWER 18

ANSWER 20: PROJECTION SYMBOL
FREE HAND @&

@<l

ANSWER 19: CONVENTION - COIL SPRING
FREE HAND @

v" PROFILE

PAPER 2 QUESTION 1
GRADE 12
Feb./Mar. 2017
MEMORANDUM

Copyright reserved

Please turn over



DBE/Feb.-Mar. 2017

3 NSC - Memorandum

Engineering graphics and design/P2

€2 |1violdns
z ALITVND FAMND | §
A4 L4VHS + XIT3H ¥3NNI | ¢
¢g XIT3H ¥3LNO | €
8 NOILONYHLSNOD | Z
€ SINIM FUINID + NIAID | 1

1'¢ VIIALRID LNJNSSIASSV

ANNANVYHOW3IN
2102 "1eN/ge4d
¢l 3avdo
L'¢ NOILS3IND ¢ "¥3dvd

=+~ N~ «— «—[®

NOILO3HIa

NOILO3rodd TVINOZIYOH
NOILO3rodd TvOILH3A

NOISIAIQ 3NIT + HOLId

NOISIAId 370410

“ D NO NOILISOd ONILYVYLS
(4313NVIA TYNINON) 310410 ¥31N0
NOILONYLSNOD ‘T

S30I73H HLO8 HO4 ALITVND IAIND £ £G

(€]

/.

S

\
/ @)

®
~

@

[/
[~/
o/

\

(<"

7]

\_—

AN

T

Please turn over

Copyright reserved



DBE/Feb.-Mar. 2017

4 NSC - Memorandum

Engineering graphics and design/P2

Please turn over

— |

91 |1violians WNANYHOWIW

2102 BN/ ged

(-) S3ILT¥YNAd 21 3avyo
Z'Z NOILS3ND Z ¥3dvd
I s7aavi| ¢
6 SIAYND + SINIOd | 2
9 NOILONYLSNOD | L
22 VI3 L™ LNJINSSIASSY
@ .09¢ = WwwEgl - ITVOS TVINOZIYOH
@ LN3INIOVIdSIA 40 HAVED
w w w N N N = = = [{e] (2] w
dggagdgns & =3 & & 8 = %S
[($)] (@] (&) °
@ o o o
ALITVNO BAENO @
| |
2]
ALl
|
|
@
N\

Copyright reserved



Engineering graphics and design/P2 5 NSC - Memorandum DBE/Feb.-Mar. 2017

(2]

2]
P CIRCLE CONSTRUCTION v/4
4
4
(2|
2 a 3 9
(2
S

ASSESSMENT CRITERIA

1 | AUXILIARY VIEW + 5
PLACEMENT
2 | FRONT + REAR SECTION | 25
PAPER 2 QUESTION 3 | ° | HEXAGON 4
GRADE 12

Feb./Mar. 2017 Bl C'RCLE + CL 8
MEMORANDUM TotaL| 39

Copyright reserved Please turn over



Engineering graphics and design/P2 6 NSC - Memorandum DBE/Feb.-Mar. 2017

(2]
v v 4
) \/4‘ XAEON V4 ) 97 ) T
(4
2]

1 MARK FOR EVERY
COMPONENT CORRECTLY
ASSEMBLED ( 10 PARTS -1)=9

ASSESSMENT CRITERIA
FRONT VIEW
1 | HOUSING + PIN
2 | FORK 4
3 | PULLEY 1
PAPER 2 QUESTION 4
GRADE 12 4 | M12BOLT + WASHER + 6
Feb./Mar. 2017 M12 NUT
MEMORANDUM

SUBTOTAL | 14

Copyright reserved Please turn over




Engineering graphics and design/P2 7 NSC - Memorandum

DBE/Feb.-Mar. 2017

DETAIL OF MARK
ALLOCATION FOR
WASHER, M12 NUT

AND M12 BOLT

4_— N
ASSESSMENT CRITERIA
SECTIONAL TOP VIEW
HOUSING + PIN 7
FORK 103
M12 BOLT 7
BUSH 4
PULLEY i
PAPER 2 QUESTION 4
GRADE 12 WASHER + M12 NUT 431
Feb./Mar. 2017
MEMORANDUM SUBTOTAL | 401

Copyright reserved

Please turn over



Engineering graphics and design/P2 8 NSC - Memorandum DBE/Feb.-Mar. 2017

3. SPRING MARK ALLOCATION
FREEHAND

TOP CURVE
SPRING PROFILE

N = N N

DETAIL OF MARK

ALLOCATION FOR
6) WASHER, M12 NUT
AND M12 BOLT

ASSESSMENT CRITERIA
LEFT VIEW

1 | HOUSING 41
2 | FORK 1 %

3 | SPRING 2

4 | BUSH 1
5 | PULLEY 4 %

PAPER 2 QUESTION 4

GRADE 12 g | M12BOLT + WASHER + g1
Feb./Mar. 2017 M12 NUT 2
MEMORANDUM SUBTOTAL | 22

Copyright reserved



